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Integration management and scope management: defining project success

Background: When the executive committee made the final review of the project
management methodology, they identified a lack of understanding of what
would constitute project success. The recommendation was to establish some
type of criteria that would identify project success.

The meeting between the Vice President (VP) and Project Manager (PM):

VP:  “We have a problem with the identification of success on a project. We need more
clarification.”

PM: “I assumed that meeting the deliverables specified by the customer constitute success.”

VP:  "What if we meet only ninety-two percent of the specification? Is that a success or a
failure? What if we overrun our new product development process but bring in more
new customers? What if the project basically fails but we develop a good customer
relationship during that process?”

PM: *I understand what you are saying. Perhaps we should identify both primary and
secondary contributions to success.”

Attempt the following questions:
(a) What is the standard definition of success (i.e., primary factors)? How does this relate to

the triple constraints? [4 marks]

(b) What would be two examples of secondary success factors? [2 marks]

(c) What would be a reasonable definition of project failure? [2 marks]

(d) Should these definitions and factors be included in a project management methodology?
Explain your answer [2 marks]

(e) Are there any risks with inserting the primary and secondary success factors into the project
methodology? [2 marks]

(f) Explain why the customer is the important stakeholder in a project [4 marks]

(g) State the advantages of a project milestone tracking chart [5 marks]

(h) With a well labelled diagram, explain project integration management [10 marks]
State the six criteria involved in project selection and evaluation process [6 marks]
Describe how to prepare a checklist for project closedown [8 marks]

Your organization is considering to run a project which will entail an investment of $1 000
000. The product from the project is forecasted to create revenues of $250 000 in the first year
after the end of the project and $420 000 in each of the two following years. What is true for
the net present value of the project over the three years cycle at a discount rate of 10%? Support
your findings [8 marks]

Construction of a new bridge

a) State and explain the six phases of project management [6 marks]

b) One characteristic feature of projects is that their success is never guaranteed beforehand.
Even if the desired goal is already being reached, it is uncertain whether it will be achieved
within the available budget or within the proposed time. It is not unusual for a project to



take three times as long and to cost twice as much as originally estimated. It is also not
unusual for only thirty per cent of the original project team members to be werking on the
project upon its completion. Although project managers must attend to many matters, they
actually direct projects along only five parameters. State and explain the five parameters
[S marks|
¢) During the implementation of the project, briefly explain how the project manager works
with the following stakeholders:

i) Executive managers [2 marks]
ii) Vendor - [2 marks]

d) Explain how Crosby’s quality philosophy can be used to enhance the acceptability of the
project deliverable [6 marks]

6. The table shows the activities, times and costs for a house project.

| | Preceding | Time (Weeks) Cost ($)
| Normal | Crash | Normal | Crash |
Al- 5 4 600 | 700 |
B |- 3 2 1200 | 2000 |
ClA 7 4 1500 | 3 000
D|A 6 4 |  500(1100
E|B 7 5 400 600
F|DE 3 2 150 250
G!DE - 16 800 | 2400
H|CF 8 | 6 1 600 | 2 600
(a). Draw the network diagram and determine the critical path [6 marks]
(b). How long will it take to complete the project [2 marks]
(¢). Can activity D be delayed? If so, by how many weeks? [2 marks]
(d). What is the schedule for activity E? [4 marks]
(e). Formulate a linear programming model for the optimal crashing decision to meet a 19 week
deadline. [12 marks]
End of paper




ADDITIONAL INFORMATION

Co—C
K= M
M=T,-T.
Let:

o = optimistic time estimate
m = most likely time estimate
p = pessimistic time estimate

o+4m+p

Mean (Expected Time):t = —

.
Variance: ¢* = (EEE)
Social cost = Private costs + Negative Externalities

Social benefit = Private benefits + Positive externalities



l. Areas under the Normal Distribution
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